Pensieve header: Computationsrelated to the weight system of pA.

SetDirectory ["C:\\drorbn\\ Academ cPensi eve\\ 2010-08"1;
<< pA.m

= "Points" P

pPA[P[i _, j_11 := AHD[
tfil]=t01, {i}y, Wj1,
W1 - Wi ]
]
Ptestl = pA[Ci rcuitD agram[Xm[i, j, k, 11, P[l, ml]]

AHD[(t [i ] =t [k]) (t[j) =t ]=t[m), {i,]), Wk, m,

Ptest2 = pA[CircuitD agram[Xm[i, j, k, m]]]

AHD[(t [i ] =t [k]) (t[j)=t[m]), {i, ]}, Wk, m,
COITWE, -t I W, mp W, K] W, m) et [ W, m) WK, )]

Last [Ptest1] == Last [Ptest2]

True

m The "SemiVirtual" SVXp

diffl =pA[Xp[j, k, I, 111 -pA[G rcuitD agram[P[i, k], P[j, 1111

7AHD[<t [I} ::t[k]) (t []} ::t“]), {lql}« \Mk: |], V\/[I, ]}7\,\4'1 I]+\Mjr k]+VV[k, I}]*
AHD[(t [j ] =t [l]) (t (k] =t[i]), (J, i}, WKk, I'],
W, JT+ (=1+t[j]) Wi, KT -t Qi JW, 1] +Wj, k] +t[i]Wk, 17]

diff2 = Expand[diff1 /. AHD[_, _, Wk, 11, p_] » p]

W, K]t W, K] W, L St [ W, L] WK, ] et ] WK, ]
diff3 = Expand[diff2 /. t[i_] = 1+x[i]]

W, LX)+ WK, L] X[ ]+ W, K] X[ ]

PA[SVXpIli _, j_, k_, 1 _11 : = AHD[

(C[i]=t[k]) (t[[T1=t010), {i,]} WKk, I,

-Wi, kI +t[jIWi, kK] +Wi, I1-tiiwWi, I']-Wk, I']7+t[i]1WMk, I]
1

= The"Blob" B
pA[Ci rcui t Diagram[SVXp[i, |, k, j1, P[k, 1111
AHD[t [i ] =t [j] =t [kl =t([1], {i}, Wj], WIi ] -t Qi TWEP 7 -WEj T+t i T W T]

pA[C rcui t Diagram[SVXp[l, i, j, k1, P[k, 1111
AHD[t [i] =t [j]=t([k] =t[l], {i}, Wj], 0]
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PA[B[i _, j_11 := AHD[
(Cll=t0n, {4y Wjl, WIiJ-t[iIWil-Wjl+t[ilW]j]
1

m The Archibald Relation

ArchLl = pA[CG rcui tD agram[SVXp[i, k, I, pl, SVXp[j, p, m nl11]

AHD[ (t [i ] = [H)(t[j]—— [m]) (t [(n] =t[pl), {i, ',k},
W, m nJ, \Mi.L [1W[I,J,m+t[k W[MJ, ] -t [i]t([k] W[i,J'.m+
VV[i j, n] W[l, ,n—t[j W[l ,n]+t[ 1 Wi, j ,n] -Wi, +
W[l« VWI an [ 1W[| ]7V\I[j,l,m]+t[|]V\4j,I,m}+
TWj, I, —t[ ITW, I, W[J ' IWj, I, nT-t[jIWj, I, nl+
t[ Tt V\M, , \MI m n]-t[i]Wl, mn —tJ W, m nl+t[iJt[jIWl, m
ArchL2 = pA[CircuitDi agram[SVXp[j, k, m pl, SVXp[i, p, |, n11]
AHD[(t[']“t[H)(t[] =t [m]) (t (k] =t [n] =t[p]), {i, ], k},
WIl, m \N[I j 1+t ()] VV[I i, +t[k}W[i,j,I]ft[ t (k] Wi, 1]+
VW ', VV[I, , Nl -t[j] W[l ,n]+t[' tjIwWi, j, n] -Wi, m] +
T Wi, \MI, }*t[ k]W[l, ,m]7V\4i,mn]+t[i]\Mi,mn}
1 Wi, —t[ (J1Wi, m VV[J ,n t[i]Wj, nj-t[Iwj, I, nl+
t[ IRRI VV[J I, n VW mnft 1 W, -t [Iwl, mn]+t[i]t[j}V\{I,m

ArchL = Expand[
(ArchLl - ArchL2) /. AHD[_, _, WMIl, m n], p_1 » p /. t[i_1 =» (L+x[i])

ArchRl = pA[Circui tDiagram[SVXp[i, k, |, n1, B[j, m]]

AHD[ (t [i ] =t [l ]) (t[j] =t[m]) (t[K] = [n]),{l ) , W, m nj,
W[i,j,nJ—t[iJW[i,J n]—t[jJW[i.J ]+t[l]t[iJW[i,i,n]—W[i,I.m]+
jIWE, 1, m) o+t VWI , m -t [j] IW, Iy m =W, m n] +t[i]Wi, mn]-+

JW[i,mn]—t[ VV[I m ]+W[j,|,n}—t[i}W[j,I,n]—t[j]W[j,I,n}+
tiltgIw, I, n VW mn] -t IWIl, mn]-t[jIWIl, mn]+t(iJt{jIWl, m

ArchR2 = pA[Circui t Di agram[SVXp[j, k, m n]l, B[i, 1111

AHD[(t [i ] =t ([l]) (t[j]=t[m) (t[K] =t[n]), {i, J', , W, m n]

W, o)t ()W, f, o m] ot (KW, o m) -t it VV[I,J,m]+
VW':J n—t[llVV[i,J n]—t[j}vv[i,j,n]+t[i]t[j}\l\/[i,j,n]-W[i,mn]+

T Wi, mn]+ \Mly }—t[i]t[j]M/[i,mn]—Mj,l mo+t (i)W, 1, m
TWj, ,m]—t[ TW, I, m+ W, 1,on IWG, I, n] -t [jIwWj, I, n]+
t[ JtHIWj, I, VW m nj 7t[i]W[|,mn *tl IWIL, m np+t[iJt[jIwl, m

ArchR = Expand[
(-ArchRl + ArchR2) /. AHD[_, _, Wil, m n], p_]1 =» p /. t[i_1 » (L+x[i])

ArchL = ArchR

True
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Horizontal Arrow Diagrams

pWIn_, had_HAD] : = Mdule[
{I = Length[had], tail, head, tops = Range[n]},
cd =CircuitD agram ee Tabl e[
{tail, head} = IntegerDigits[had[[i]1]];
I f [tail = head,
B[tops[[head]], tops[[head]] += 10],
SVXp[tops[[tail 1], tops[[head]], tops[[tail 1] += 10, tops[[head]] += 10]

.1}
I
Print [cd];
Expand [Si ghature [tops] = Last [pA[cd]] /. t[i_1 = 1+x[i]] /.
Thread [tops - 10 + Range[n]]
1
pWIn_, expr_] := expr /. had_HAD =» pWn, had]

pW5, HAD[11, 21, 34, 22]]
GircuitDiagram[B[1, 11], SVXp[2, 11, 12, 21], SVXp[3, 4, 13, 14], B[12, 22]]

W2, 3, 14, 12] x[1]1?x[2] X[3] -W2, 13, 14, 12] x[1]?>x[2] x[3] -

W2, 3, 14, 117 x[1] x[2]1%2x[3] +W2, 13, 14, 11] x[1] x[2]2x[3] -

W3, 14, 11, 12] x[1] x[2]?x[3] + W13, 14, 11, 12] x[1] x[2]?x[3] -

W2, 3, 13, 127 x[1]2x[2] x[4] +W2, 3, 13, 11] x[1] x[2]%x[4] + W3, 13, 11, 12] x[1] x[2]% x[4]

pW2, HAD[11, 22]]
CrcuitDi agram[B[1, 11], B[2, 12]]
WL, 2] Xx[1] X[2] -W1, 12] x[1] x[2] + W2, 11] x[1] x[2] + W11, 12] x[1] X [2]
Simplify[pW2, HAD[12]]]
CircuitD agram[SVXp[1, 2, 11, 12]]
“W1, 12] x[1] + W11, 12] x[1] + W1, 11] X[2]
Simplify[pW2, HAD[12, 12]]]
CircuitDi agram[SVXp[1, 2, 11, 127, SVXp[11, 12, 21, 22]]
X[1] (-W1, 127 x[1] + W11, 127 x[1] +W1, 11]x[2])
Sinplify[pWZ2, HAD[12, 12, 12]]]
CircuitDiagram[SVXp[1, 2, 11, 12], SVXp[11, 12, 21, 22], SVXp[21, 22, 31, 32]]
X[l}2 (-W1, 12] x[1] + W11, 12] x[1] + W1, 11]x[2])
Simplify[pW2, HAD[12, 12, 12, 12]]]
CircuitDi agram[SVXp[1, 2, 11, 127, SVXp[1l, 12, 21, 227, SVXp[21, 22, 31, 32], SVXp[31, 32, 41, 42]]

X[l]3 (-W1, 12] x[1] +W11, 12] x[1] + W1, 11] x[2])
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Simplify[pW2, HAD[12, 21]]]
CircuitDi agram[SVXp[1, 2, 11, 12], SVXp[12, 11, 22, 21]]
(-W[1, 127 x[1] + W11, 12] + W1, 11] x[2])

Simplify[pW2, HAD[21, 12]]]
CrcuitDi agram[SVXp[2, 1, 12, 117, SVXp[11, 12, 21, 22]]

x[1] (-W2, 12] (W2, 11] + W11, 12]) x[2])

m 4T and OC
Print /@ (FourT = pW3, {HAD[12, 23], HAD[13, 23], HAD[23, 12], HAD[23, 13]1}]);
CircuitDi agram[SVXp[1, 2, 11, 127, SVXp[12, 3, 22, 13]]
CircuitD agram[SVXp [1, 3, 11, 13], SVXp([2, 13, 12, 23]]
CircuitDi agram[SVXp[2, 3, 12, 13], SVXp[1, 12, 11, 22]]
CircuitDi agram[SVXp[2, 3, 12, 137, SVXp[1, 13, 11, 23]]

W1, 13, 12] x[1] x[2] -W11, 13, 12] x[1] x[2] + W1, 11, 13] x[2]2-W1, 11, 12] x[2] X [3]

W1, 2, 13] x[1] X[ \/\/[1 12, 13] x[1] x[2] + W2, 11, 13] x[1] x[2] +
w11, 12, 13]x[1} W1, 2, 12] x[1] Xx[3] -W2, 11, 12] x[1] X [3]

W1, 13, 12] x[1] x[2] -W11, 13, 12] x[1] x[2] + W1, 11, 13] x[2]2 -
W1, 2, 12] x[1] x[3] -W2, 11, 12] x[1] x[3] + W1, 2, 11] x[2] X [3]

W1, 2, 137 x[1]x[2] -W1, 12, 13] x[1] x[2] + W2, 11, 13] x[1] X[2] +
W11, 12, 13]7x[1] x[2] -W1, 2, 11]x[2] x[3] -W1, 11, 12]x[2] x[3]

Expand[{1, 1, -1, -1}. FourT]
0

FourT2 = pW3, {HAD[21, 23], HAD[31, 23], HAD[23, 21], HAD[23, 31]}]
CircuitDi agram[SVXp[2, 1, 12, 117, SVXp[12, 3, 22, 13]]
CircuitDi agram[SVXp[3, 1, 13, 117, SVXp[2, 13, 12, 23]]
CircuitD agram[SVXp[2, 3, 12, 13], SVXp[12, 1, 22, 11]]

CircuitDi agram[SVXp[2, 3, 12, 13], SVXp[13, 1, 23, 11]]

(W2, 13, 12] x[1] x[2] + W2, 11, 18] x[2]* - W11, 13, 12] x[2]*- W2, 11, 12] x[2] x[3],
-W2, 3, 13]x[1] x[2] 7W[3, 12, 13] x[1] x[2} +V\42, 3, 127 x[1] X[3] +

W2, 11, 13])([2] FW11, 12, 13] [2} W2, 11, 12] x[3]2,
W2, 13, 12] x[1] X +vv[2 11, 13] x \N[ll 13, 12] x[2]2-W2, 11, 12] x[2] x[3],
W2, 12, 13] x[l] +W2, 11, 13] x [21 FW11, 12, 131 x[2] x[3] -W2, 11, 12] x[3]?}

{1, 1, -1, -1}. FourT2

-W2, 3, 137 x[1]x[2] -W3, 12, 13] x[1] x[2] +W2, 3, 127 x[1] x[3] +W2, 12, 13] x[1] x[3]

OC = pW3, {HAD[12, 13], HAD[13, 12]}]



CircuitD agram[SVXp[1, 2, 11, 127,

Circui tD agram[SVXp[1, 3, 11, 137,

SVXp (11, 3, 21, 13]]
SVXp[11, 2, 21, 12]]

{-w1, 12, 13]x 2+vv[12 13, 117 x SW1, 13, 11] x[1] x[2] + W1, 12, 11]
W1, 12, 13] x[1]2+W12, 13, 11] x W1, 13, 11] x[1] x[2] + W1, 12, 11]
{1, -13.0C

0

= No-vertex relations?

pW[6, HAD[14, 25, 36]]

CircuitD agram[SVXp[1, 4, 11, 14], SVXp[2, 5, 12, 15], SVXp[3, 6, 13, 16]]
-W1, 2, 3, 14, 15, 16] x[1] x[2] x[3] +
W1, 2, 13, 14, 15, 16] x[1] x[2] x[3] -W1, 3, 12, 14, 15, 16] x[1] x[2] x[3]
W1, 12, 13, 14, 15, 16] x[1] x[2] x[3] +W2, 3, 11, 14, 15, 16] x[1] x[2] X[3]
W2, 11, 13, 14, 15, 16] x[1] x[2] x[3] - W3, 11, 12, 14, 15, 16] x[1] x[2] x[3
W11, 12, 13, 14, 15, 16] x[1] x[2] x[3] +W1, 2, 3, 11, 15, 16] x[2] x[3] x[4]
W1, 2, 11, 13, 15, 16] x[2] x[3] x[4] -W1, 3, 11, 12, 15, 16] x[2] x[3] x[4]
W1, 11, 12, 13, 15, 16] x[2] x[3] x[4] -W1, 2, 3, 12, 14, 16] x[1] x[3] x[5]
W1, 2, 12, 13, 14, 16] x[1] x[3] x[5] +W2, 3, 11, 12, 14, 16] x[1] x[3] X[5]
W2, 11, 12, 13, 14, 16] x[1] x[3] x[5] -W1, 2, 3, 11, 12, 16] x[3] x[4] x[5]
W1, 2, 11, 12, 13, 16] x[3] x[4] x[5] + W1, 2, 3, 13, 14, 15] x[1] x[2] x[6] +
W1, 3, 12, 13, 14, 15] x[1] x[2] x[6] -W2, 3, 11, 13, 14, 15] x[1] x[2] x[6]
W3, 11, 12, 13, 14, 15] x[1] x[2] x[6] + W1, 2, 3, 11, 13, 15] x[2] x[4] X [6]
W1, 3, 11, 12, 13, 15] x[2] x[4] x[6] -W1, 2, 3, 12, 13, 14] x[1] X[5] x[6] +
W2, 3, 11, 12, 13, 14] x[1] x[5] x[6] + W1, 2, 3, 11, 12, 13] x[4] X[5] X [6]
pW6, Total [
(Signature[#] » HADee ({10, 20, 30} +#)) & /@ Pernmutations [{4, 5, 6}]
1]
CircuitDi agram[SVXp[1, 4, 11, 14], SVXp[2, 5, 12, 15], SVXp[3, 6, 13, 16]]
CircuitDi agram[SVXp[1, 4, 11, 147, SVXp[2, 6, 12, 16], SVXp[3, 5, 13, 15]]
Circui t Diagram[SVXp[1, 5, 11, 15], SVXp[2, 4, 12, 14], SVXp[3, 6, 13, 16]]
CircuitDiagram[SVXp[1, 5, 11, 15], SVXp[2, 6, 12, 16], SVXp[3, 4, 13, 14]]
CircuitDi agram[SVXp[1, 6, 11, 16], SVXp[2, 4, 12, 14], SVXp[3, 5, 13, 15]]
Circui t Diagram[SVXp[1, 6, 11, 16], SVXp[2, 5, 12, 15], SVXp[3, 4, 13, 14]]
-2W1, 2, 3, 12, 13, 16] x[1] x[4] x[5] +
2W2, 3, 11, 12, 13, 16] x[1] x[4] x[5] +2W1, 2, 3, 11, 13, 16] x[2] x[4] X[5
2W1, 3, 11, 12, 13, 16] x[2] x[4] X[5] -2W1, 2, 3, 11, 12, 16] x[3] x[4] X[5
2W1, 2, 11, 12, 13, 16] x[3] x[4] x[5] -2W1, 2, 3, 12, 13, 15] x[1] x[4] X[6
2W2, 3, 11, 12, 13, 15] x[1] x[4] X[6] +2W1, 2, 3, 11, 13, 15] x[2] x[4] X [6
2W1, 3, 11, 12, 13, 15] x[2] x[4] x[6] -2W1, 2, 3, 11, 12, 15] x[3] x[4] X[6
2W1, 2, 11, 12, 13, 15] x[3] x[4] X[6] -2 W1, 2, 3, 12, 13, 14] x[1] x[5] X [6
2W2, 3, 11, 12, 13, 14] x[1] x[5] x[6] +2W1, 2, 3, 11, 13, 14] x[2] x[5] x[6
2W1, 3, 11, 12, 13, 14] x[2] x[5] X[6] -2W1, 2, 3, 11, 12, 14] x[3] x[5] X [6
2W1, 2, 11, 12, 13, 14] x[3] x[5] x[6] +6 W1, 2, 3, 11, 12, 13] x[4] x[5] x[6
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x[1] x[3],
x[1] x[3]}
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pW6, Total [

(HADee ({10, 20, 30} +#)) & /@ Pernutations [{4, 5, 6}]

11

Circui t Di agram[SVXp[1,
Circui t D agram[SVXp[1,
Circui tDiagram[SVXp[1,
Circui t Di agram[SVXp[1,
Circui t D agram[SVXp[1,

Circui tDiagram[SVXp[1,

-6 W1, 2, 3, 14,

6,

15,

11,
11,
11,
11,
11,
11,

16]

6 W1, 3, 12, 14, 15, 16] x
6W2, 3, 11, 14, 15, 16] x

6 W3, 11, 12, 14, 15, 16] x

2W1, 2, 3, 13, 15, 16] x
2W2, 3, 11, 13, 15, 16] x
2W1, 2, 3, 12, 15, 16] x
2W2, 3, 11, 12, 15, 16] x
2W1, 2, 3, 11, 15, 16] x
2W1, 3, 11, 12, 15, 16] x
2W1, 2, 3, 13, 14, 16] x
2W2, 3, 11, 13, 14, 16] x
2W1, 2, 3, 12, 14, 16] x
2W2, 3, 11, 12, 14, 16] x
2W1, 2, 3, 11, 14, 16] x
2W1, 3, 11, 12, 14, 16] x
2W1, 2, 3, 13, 14, 15] x
2W2, 3, 11, 13, 14, 15] x
2W1, 2, 3, 12, 14, 15] x
2W2, 3, 11, 12, 14, 15] x
2W1, 2, 3, 11, 14, 15] x
2W1, 3, 11, 12, 14, 15] x

147,
147,
157,
157,
167,

167,

X[1] x

(1
(1

(1

(1] x[

(1

(2] x[

(2

(1] x[

(1

(1

(2] x[

(2

(1] x[

(1

(1] x[

(1

(2] x[

(2

(1
(1] x

X
2
3
3
2
(11 x[3
3
2
3
3

SVXp (2,
SVXp (2,
SVXp (2,
SVXp (2,

SVXp (2,

12,
12,
12,
12,

12,

SVXp (2, 5, 12,

(2
] x[2] X
I x[2] X

] 2]
[ X[

] x[2] X

X[

Ix

X[

Ix

X[

I X
2
2
[
]
2
]
] x[3
]
3
]
2] x
]
3
]
3
]
2
]
3
]
3

] X

] X
X[

Ix

X[

Ix

X[

Ix

X[

Ix

X[

Ix

G
[
[
[
[
I X[
I X[
I X[
I X[

I X[

+6\Ml 2, 13, 14,

+2\N[1 3, 12, 13, 15, 16] x[1]
X[

+2\N[1 2, 12, 13, 15, 16] x[1]
X[

+2\N[1 2, 11, 13, 15, 16] x[2]
X[

—2\/\/[1 3, 12, 13, 14, 16] x[1]
X[

—2\/\/[1 2, 12, 13, 14, 16] x[1]
-2W2, 11, 12, 13, 14, 16] X[
—2\/\/[1 2, 11, 13, 14, 16] x[2]
X[

+2\N[1 3, 12, 13, 14, 15] x[1]
X[

1]

X[

2]

X[

+2vv[1 2, 12, 13, 14, 15] x

+2vv[1 2, 11, 13, 14, 15] x

15],
167,
147,
16],
147,

157,

SVXp (3,
SVXp [3,
SVXp [3,
SVXp (3,
SVXp [3,

SVXp [3,

13,

13,

, 13,

13,

13,

16]]
15]]
161]
1471

157]

4, 13, 14]]

15, 16] X

[1]

~6W1, 12, 13, 14, 15, 16] x|
+6W[2 11, 13, 14, 15, 16] x|
] +6W11, 12, 13, 14, 15, 16]

]+2W3, 11, 12, 13, 15, 16]

]+2W2, 11, 12, 13, 15, 16]

]+2W1, 11, 12, 13, 15, 16]

-2W3, 11, 12, 13, 14, 16]

-2W1, 11, 12, 13, 14, 16]

]+2W3, 11, 12, 13, 14, 15]

]+2W2, 11, 12, 13, 14, 15]

]+2W1, 11, 12, 13, 14, 15]

X OX OX OX AX AOX ax &Xx B~ XN~

Noxox
X W w

5 BRS, BETT, R N

o

N
x
i
X W W
Loy

| | | +

+

+

(P[1234] - P[2134] - P[1243] + P[2143]) - (P[3412] - P[4312] - P[3421] + P[4321]) /.
P[p_1 » pW8, HADee ({50, 60, 70, 80} +IntegerDigits [p])]

Circui t Di agram[SVXp [5,
Circui t Di agram[SVXp [5,
Circui t Di agram[SVXp [5,
Circui t Di agram[SVXp [5,
Circui t Di agram[SVXp [5,
Circui t Di agram[SVXp [5,
Circui t Di agram[SVXp [5,

Circui t Di agram[SVXp [5,

1,
1,
2,
2,
3,
3,
4,

4,

15,
15,
15,
15,
15,
15,
15,

15,

11},

SVXp 6,
, SVXp [6,
,» SVXp [6,
SVXp 6,
, SVXp [6,
» SVXp [6,
SVXp [6,

» SVXp [6,

2,
2,

1,

3,

16,
16,
16,
16,
16,
16,
16,

16,

12],

SVXp (7, 3,

» SVXp [7,
SVXp [7,
» SVXp [7,
» SVXp [7,
SVXp [7,

» SVXp [7,

» SVXp (7, 4,

3,
4,
1,
2,
1,

2,

17,
17,
17,
17,
17,
17,
17,

17,

13],

147,

SVXp 8,
SVXp (8,
,» SVXp[8,
SVXp 8,
, SVXp[8,
,» SVXp[8,
SVXp [8,

» SVXp [8,

1,

18,
18,
18,
18,
18,
18,
18,

18,

+
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2WS5, 6, 7, 8, 14, 16, 17, 18] x[1] x[2] X[3] X[5] -
2W6, 7, 8, 14, 15, 16, 17, 18] x[1] X[2] X[3] X[5] +
2WS5, 6, 7, 8, 13, 16, 17, 18] x[1] X[2] X [4] X [5] -
2W6, 7, 8, 13, 15, 16, 17, 18] x[1] X[2] X [4] X [5] -
2WS5, 6, 7, 8, 12, 16, 17, 18] x[1] Xx[3] X [4] X [5] +
2W6, 7, 8, 12, 15, 16, 17, 18] x[1] x[3] X [4] X [5] -
2WS5, 6, 7, 8, 11, 16, 17, 18] x[2] Xx[3] X [4] X [5] +
2W6, 7, 8, 11, 15, 16, 17, 18] x[2] X [3] X [4] X [5] -
2WS5, 6, 7, 8, 14, 15, 17, 18] x[1] X[2] X[3] X [6] +
2WS5, 7, 8, 14, 15, 16, 17, 18] x[1] X[2] X[3] X [6] -
2WS5, 6, 7, 8, 13, 15, 17, 18] x[1] X[2] X [4] X [6] +
2WS5, 7, 8, 13, 15, 16, 17, 18] x[1] X[2] X [4] X[6] +
2WS5, 6, 7, 8, 12, 15, 17, 18] x[1] x[3] X [4] X [6] -
2WS5, 7, 8, 12, 15, 16, 17, 18] x[1] X[3] X [4] X[6] +
2WS5, 6, 7, 8, 11, 15, 17, 18] x[2] Xx[3] X [4] X [6] -
2WS5, 7, 8, 11, 15, 16, 17, 18] x[2] X[3] X [4] X [6] -
2WS5, 6, 7, 8, 14, 15, 16, 18] x[1] X[2] X[3] X [7] +
2WS5, 6, 8, 14, 15, 16, 17, 18] x[1] X[2] X[3] X[7] -
2WS5, 6, 7, 8, 13, 15, 16, 18] x[1] X[2] X [4] X [7] +
2WS5, 6, 8, 13, 15, 16, 17, 18] x[1] X[2] X [4] X[7] +
2WS5, 6, 7, 8, 12, 15, 16, 18] x[1] X[3] X [4] X [7] -
2WS5, 6, 8, 12, 15, 16, 17, 18] x[1] X [3] X [4] X[7] +
2WS5, 6, 7, 8, 11, 15, 16, 18] x[2] X [3] X [4] X [7] -
2WS5, 6, 8, 11, 15, 16, 17, 18] x[2] X [3] X [4] X[7] -
2WS5, 6, 7, 8, 12, 14, 16, 18] x[1] Xx[3] X[5] X [7] +
2WS5, 6, 8, 12, 14, 16, 17, 18] x[1] X[3] X[5] X[7] -
2W6, 7, 8, 12, 14, 15, 16, 18] x[1] X[3] X[5] X[7] -
2W6, 8, 12, 14, 15, 16, 17, 18] x[1] x[3] X[5] X[7] -
2WS5, 6, 7, 8, 11, 14, 16, 18] x[2] Xx[3] X[5] X [7] +
2WS5, 6, 8, 11, 14, 16, 17, 18] x[2] X[3] X[5] X[7] -
2W6, 7, 8, 11, 14, 15, 16, 18] x[2] x[3] X[5] X [7] -
2W6, 8, 11, 14, 15, 16, 17, 18] x[2] x[3] X[5] X[7] -
2WS5, 6, 7, 8, 12, 13, 16, 18] x[1] x[4] X[5] X [7] +
2WS5, 6, 8, 12, 13, 16, 17, 18] x[1] x[4] X[5] X[7] -
2W6, 7, 8, 12, 13, 15, 16, 18] x[1] x[4] X[5] X [7] -
2W6, 8, 12, 13, 15, 16, 17, 18] x[1] x[4] X[5] X[7] -
2WS5, 6, 7, 8, 11, 13, 16, 18] x[2] x[4] X[5] X [7] +
2WS5, 6, 8, 11, 13, 16, 17, 18] x[2] X [4] X[5] X[7] -
2W6, 7, 8, 11, 13, 15, 16, 18] x[2] x[4] X [5] X [7] -
2W6, 8, 11, 13, 15, 16, 17, 18] x[2] x[4] X[5] X[7] +
2WS5, 6, 7, 8, 12, 14, 15, 18] x[1] X[3] X[6] X [7] -
2WS5, 6, 8, 12, 14, 15, 17, 18] x[1] X[3] X[6] X[7] +
2WS5, 7, 8, 12, 14, 15, 16, 18] x[1] X[3] X [6] X [7] +
2WS5, 8, 12, 14, 15, 16, 17, 18] x[1] X[3] X[6] X[7] +
2WS5, 6, 7, 8, 11, 14, 15, 18] x[2] X[3] X[6] X [7] -
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2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W,
2 W6,
2 W5,
2 W5,
2 W,
2 W6,
2 W5,
2 W5,
2 W,
2 W6,
2 W5,
2 W5,
2 W,
2 W6,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,

QONNIPONNOPONANOIPOPNNOOPNANODOPNNODPPIDPPPPOO 0N 0N 0N

NANROANANER®RNNRONNEONNRONNPONNNNNANNNNNR®ONFP©®NR®®

N

[N

N

[N

N

[N

N

[N

L

11, 14, 15, 17, 18] x[2] X[
11, 14, 15, 16, 18] x[2] X[

8, 12, 13, 15, 18] x[1] x[4
12, 13, 15, 17, 18] x[1] X[
12, 13, 15, 16, 18] x[1] X[

, 13, 15, 16, 17, 18] x[1] x

8, 11, 13, 15, 18] x[2] x[4
11, 13, 15, 17, 18] x[2] X[

11, 13, 15, 16, 18] x[2]

8, 14, 15, 16, 17] x[1] X
14, 15, 16, 17, 18] x[1]
8, 13, 15, 16, 17] x[1] X
13, 15, 16, 17, 18] x[1]
8, 12, 15, 16, 17] x[1] X
12, 15, 16, 17, 18] x[1]
8, 11, 15, 16, 17] x[2] X
11, 15, 16, 17, 18] x[2]
8, 12, 14, 16, 17] x[1] X
12, 14, 16, 17, 18] x[1]
12, 14, 15, 16, 17] x[1]

8, 11, 14, 16, 17] x[2] X
11, 14, 16, 17, 18] x[2]
11, 14, 15, 16, 17] x[2]

8, 12, 13, 16, 17] x[1] X
12, 13, 16, 17, 18] x[1]
12, 13, 15, 16, 17] x[1]

8, 11, 13, 16, 17] x[2] X
11, 13, 16, 17, 18] x[2]
11, 13, 15, 16, 17] x[2]

8, 12, 14, 15, 17] x[1] X
12, 14, 15, 17, 18] x[1]
12, 14, 15, 16, 17] x[1]

8, 11, 14, 15, 17] x[2] X
11, 14, 15, 17, 18] x[2]
11, 14, 15, 16, 17] x[2]

8, 12, 13, 15, 17] x[1] X
12, 13, 15, 17, 18] x[1]

X

, 13, 15, 16, 17, 18] x[2]

, 14, 15, 16, 17, 18] x[1]

, 14, 15, 16, 17, 18] x[2]

, 13, 15, 16, 17, 18] x[1]

, 13, 15, 16, 17, 18] x[2]

, 14, 15, 16, 17, 18] x[1]

, 14, 15, 16, 17, 18] x[2]

X[6]X[7] +
X[6] X[7] +
X[6]X[7] +
(61 x[7] -

X[6]X[7] +
X[6] X[7] +
X[6]X[7] +
(61 x[7] -

X[6]X[7] +
X[6] X[7] +
X[6]X[7] +
(3] x[8] -

X[3]X[8] +
(4] x[8] -

X[4]X[8] -
(4] x[8] +

X[4]X[8] -
(4] x[8] +

X[4]X[8] +
(5] x[8] -

X[5]x[8] +
X[5] x[8] +
X[5] x[8] +
(5] x[8] -

X[5] x[8] +
X[5] x[8] +
X[5] x[8] +
(5] x[8] -

X[5] x[8] +
X[5] x[8] +
X[5] x[8] +
(5] x[8] -

X[5] x[8] +
X[5] x[8] +
X[5] x[8] -
(6] x[8] +

X[6]Xx[8] -
X[6]x[8] -
X[6] x[8] -
(6] x[8] +

X[6]Xx[8] -
X[6]x[8] -
X[6] x[8] -
(6] x[8] +

X[6]Xx[8] -



2 W5,
2 W5,
2 W5,
2 W5,
2 W5,
2 W5,

NN o NN

8, 12, 13, 15, 16, 17] x
12, 13, 15, 16, 17, 18]
7, 8, 11, 13, 15, 17] x|
7, 11, 13, 15, 17, 18] x
8, 11, 13, 15, 16, 17] x
11, 13, 15, 16, 17, 18]

[
X
2

[

[
X

1
[
]
2
2
[

]
]
2
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